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D1. Type of household when respondent was around 14 years old.   

      As institutions should be understood: orphanage, health institutions, young offender's units etc.).  
      Boarding schools are not to be considered as institutions.  

                         

- Private household………………………………………………………………………….…     1 
   - Lived in a collective household or institution ……………………….……...……………..       2 End of survey 
   
 
 

D2. Presence of mother when respondent was around 14 years old. 
 

- Yes…………………….…………………………………………………………………….…    1 
   - No, she did not live in the same household but I had contact …….……...……………..       2 

- No, she did not live in the same household and I had no contact …………………….…    3 
   - No, deceased…………………………………. ……………………….……...……………..      4 

 
 

D3. Presence of father when respondent was around 14 years old. 
 

- Yes…………………….…………………………………………………………………….…    1 
   - No, he did not live in the same household but I had contact …….…..…...……………..       2 

- No, he did not live in the same household and I had no contact …………………….…    3 
   - No, deceased…………………………………. ……………………….……...……………..      4 

 
D4. Number of adults when respondent was around 14 years old. 

 

    – Number (0 – 99)..……………………………………………………………………………|_|_| 
 
 

D5. Number of children when respondent was around 14 years old. 
 

    – Number (0 – 99)..……………………………………………………………………………|_|_| 

 
D6. Number of persons in the household in work when respondent was around 14 years old. 

 

    – Number (0 – 99)..……………………………………………………………………………|_|_| 
 
 

D7. Degree of urbanisation when respondent was around 14 years old. 
 

- City (more than 100 000 inhabitants)…………………………………………………….…     1 
   - Town or suburb (10 000 to 100 000 inhabitants) ………………….…..…...……………..       2 

- Rural area, small town or village (less than 10 000 inhabitants). …………………….…       3 
 
 
D8. Tenancy status when respondent was around 14 years old. 

 

- Owned ………………….…………………………………………………………………….…    1 
   - Rented ………………………………………………………………………...……………..         2 

- Accommodation was provided free………………………………………………………….      3 
- Do not know……………………………………. ……………………….……...……………..      4 
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FOR THE INTERVIEWER:  
           -If the answer to question D3 is 3 or 4, continue with question D15. 
           -If the answer to question D3 is 3 or 4 and simultaneously the answer to question D2 is 3 or 4 continue with  
            question D21. 
 

 
D9. Country of birth of the father. 

 

- Country of birth of father________________________________________________    |_|_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
 

D10. Citizenship of the father when respondent was around 14 years old. 
 

- Country of main citizenship______________________________________________    |_|_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
D11. Highest level of education attained by the father when respondent was around 14 years old. 

 

- Low level (less than primary, primary education or lower secondary education) …….…     1 
   - Medium level (upper secondary education and post-secondary non-tertiary education)  2 

- High level (short-cycle tertiary education, bachelor’s or equivalent level, master’s or  

   equivalent level, doctoral or equivalent level)……………………………………..…………   3 
- Do not know……………………………………. ……………………….……...……………..     4 

 

 
D12. Highest level of education attained by the father when respondent was around 14 years old. 

 

- Employee working full-time ……………………………………………………………....…    1 
   - Employee working part-time....……………………………………………...……………....        2 

- Self- employed or helping family business ……………………………………………….      3 
- Unemployed/Looking for job...………………. ……………………….……...……………..      4 

- In retirement ………….…………………………………………………………………….…    5 
   - Permanently disabled and/or unfit to work ………………………………….……………..       6 

- Fulfilling domestic tasks and care responsibilities …..…………………………………….      7 
- Other inactive person ……………………………………. …………………………………..      8 

- Do not know…………….…………………………………………………………………….…    9 

 

 
FOR THE INTERVIEWER:  
 -If the answer to question D12 is 4 to 9, continue with question D15. 
- If the answer to question D12 is 4 to 9 and at simultaneously the answer to question D2 is 3 or 4, 
   continue with question D21. 

 

 
D13. Managerial position of the father when respondent was around 14 years old. 

 

- Yes………………………………..………………………………………………………....…    1 
   - No……………………………….……………………………………………...……………....       2 
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D14. Main occupation of the father when respondent was around 14 years old. 

 

- Description of occupation_________________________________________________     |_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
FOR THE INTERVIEWER:  

  If the answer to question D2 is 3 or 4, continue with question D21 
 

 
D15. Country of birth of the mother. 

 

- Country of birth of mother________________________________________________    |_|_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
 

D16. Citizenship of the mother when respondent was around 14 years old. 
 

- Country of main citizenship______________________________________________    |_|_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
D17. Highest level of education attained by the mother when respondent was around 14 years old. 

 

- Low level (less than primary, primary education or lower secondary education) …….…     1 
   - Medium level (upper secondary education and post-secondary non-tertiary education)  2 

- High level (short-cycle tertiary education, bachelor’s or equivalent level, master’s or  

   equivalent level, doctoral or equivalent level)……………………………………..…………   3 
- Do not know……………………………………. ……………………….……...……………..      4 

 

 
D18. Highest level of education attained by the mother when respondent was around 14 years old. 

 

- Employee working full-time ……………………………………………………………....…    1 
   - Employee working part-time....……………………………………………...……………....        2 

- Self- employed or helping family business ……………………………………………….      3 
- Unemployed/Looking for job...………………. ……………………….……...……………..      4 

- In retirement ………….…………………………………………………………………….…    5 
   - Permanently disabled and/or unfit to work ………………………………….……………..       6 

- Fulfilling domestic tasks and care responsibilities …..…………………………………….      7 
- Other inactive person ……………………………………. …………………………………..      8 

- Do not know…………….…………………………………………………………………….…    9 

 
FOR THE INTERVIEWER:  
If the answer to question D18 is 4 to 9, continue with question D21. 

 
 

D19. Managerial position of the mother when respondent was around 14 years old. 
 

- Yes………………………………..………………………………………………………....…    1 
   - No……………………………….……………………………………………...……………....       2 
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D20. Main occupation of the mother when respondent was around 14 years old. 

 

- Description of occupation_________________________________________________     |_| 
- Do not know……………………………………. ……………………….……...……………..         1 

 
D21. Financial situation of the household when respondent was around 14 years old. 

 

- Very bad ……………………….…………………………………………………………....…    1 
   - Bad………………………….....……………………………………………...……………....        2 

- Moderately bad……………………………………………………………………………….      3 
- Moderately good……………..………………. ……………………….……...……………..      4 

- Good……………………………………………………………………………………………    5 
   - Very good………………………………….. ………………………………….……………..       6 

- Do not know…………………………………………………………………………………      7 
 

 
D22. Basic school needs (books and equipment for school) met for all household children  

when respondent was around 14 years old. 
 

- Yes…….…………………….…………………………………………………………......…    1 
   - No – due to financial reasons …….………………………………………...……………....        2 

- No – other reason..………………………………………………………………………….      3 

 
D23. Having meal with meat, chicken, fish (or vegetarian equivalent) daily for all  

household children when respondent was around 14 years old. 
 

- Yes…….…………………….…………………………………………………………......…    1 
   - No – due to financial reasons …….………………………………………...……………....        2 

- No – other reason..………………………………………………………………………….      3 
 

D24. One week annual holiday away from home for all household children when  
 respondent was around 14 years old. 

 

- Yes…….…………………….…………………………………………………………......…    1 
   - No – due to financial reasons..…….………………………………………...……………...        2 

- No – other reason..………………………………………………………………………….      3 
 


